
Underground Husbandry 
Author: Ryan Maloney !
 To solve the puzzle, first determine which hybrids end up in each position. You will 
then have ten 2x3 grids (the treasure rooms) populated with the different hybrids. The 
animals positions in the treasure rooms make Braille letters. By ordering the letters based 
on the list in the puzzle, you get the following. !
1. The one with the Bear-Mole ( C ) 
2. The one with the Spider-Bat ( R ) 
3. The one with the Turtle-Rabbit ( O ) 
4. The one with the Mole-Rabbit ( S ) 
5. The one with the Bear-Spider ( S ) 

6. The one with the Turtle-Sloth ( B ) 
7. The one with the Mole-Sloth ( R ) 
8. The one with the Rabbit-Sloth ( E ) 
9.  The one with the Turtle-Spider ( E ) 
10.  The one with the Spider-Fish ( D )  !

The final answer is thus CROSSBREED !!
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In 2 Moves (Order 4, Letter S) 
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In 3 Moves (Order 6, Letter B)
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In 3 Moves (Order 9, Letter E)
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In 2 Moves (Order 10, Letter D)
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